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SECTION - A
Analytical Ability

gang Ideyss

Questions : 75 Marks : 75

widyes 75 ardpew: 75

(i) Data Sufficiency | (Marks : 20)
dgrod Dorgad

MNote : In questions numbered 1 to 20, a question is followed by data in the form of fwo
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the «data makeé an
appropriate choice from (1) to (4) as per the following guidelines :

(a)
(b)
-{c)

(d)

Mark choice (1) if the statement 1 alone is sufficient to answer the question.
Mark choice (2) if the statement II alone i§ sufficient to answer the question.

Mark choice (3) if both the statements | and 11 are sufficient to answer the
question but neither statement alone is sufficient.

Mark choice (4) if both the statements | and 11 together are not sufficient to
answer the question and additional data is required.

GriSh 1 1 el 2075065 a5 (B Pt o BE), o0 Bod LT 6 Hdes
Ko Tod [Wndarew Sgrodor angugraw. adyw dg o) andrniow,
F0Yo [@HSTrw (RS Vareraed) afHodhd Doy eHesar Lo
e abd ool & Agrin® (300 wrdhE wrerw audrhod
(1) o8 (4) H8% V0 wars zare Job¥ dabod.

(a)

(b)

()

(d)

2R Srgrve adyodd [WHEse | hr@d boglirand o ware
(1) = bEodiod.

[HS Shrarbo ai)ohd [@hHElo 1T Hr@d Horghiand O 2o
(2) e ool

RS Wrarno adl)ohd [Whdares I, 11 ol Domgiitay oSt o
2,58 Erae Domglo S8 b 2aran (3) e hBodod.

PHS vargrhe ant)ohd Ehdare 1, 1T ud Sror Domglo st
&bl dercdo eS8 b aarw (4) e Hootod
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1.

What is the 100" term of a sequence 7
2.8 eb|Eod® 100 H D30 Jod ?

I.  The sequence is an Arithmetic Progression.
o oS0 9ol [5{7..

Il.  The first term of the sequence is 5.
o eh| S0 d3nid wio 5.

Can we find the quadratic equation ax” +bx+¢ =07 .
58 LrESmo ax? + br+c =0 % DgrbodHLEr ?
I The sum of the roots is given.
wrore do FurudGod.
1. The difference of the roots 1s given.
rery Pdo akudod.
Do the two circles with their centres at A and B and havingradiry, and r, intersect ?
A,Bes ﬁcalmm Tys Ty &0 aﬂgé'gbum He SodnjEi ol odhBHotrar ?
I Distance between A and B 1s *a’ units.
A, B & dg &0 "a’ i,

|r —|<a<r +r,

Il.
Are two triangles similar ?
Sodh |Bdber e LR @hemer ?
I. They are equilateral.
oo vt |ggheres,
I1. _ Their areas are equal.
T BT UL VRO,
What 1s the arca of a regular hexagon 7
o¥ (S0 w2 STego ood ? _
I. A circle of radius *a’ units is inscribed in the hexagon.
2’ Gl amgargo fio D)o wWhR” voddPotuiod.
II.  Each side of the hexagon subtends an angle of 60° at the centre of the circle.
adoye (28 ghezo D)8 Sodio o 60° E'mo dipod.
What is the value of log, ,x ?
log, ¢ aJeda odos ?
L. x>3
I logyex+log,(x—3)=1

Is ABCD a cyclic quadnlateral ?
ABCD 2.8 S(5ab Sedhyesior ?

I.  The lengths of the diagonals are given.
DEgrL SPURLY SRgGra.
II. A circle with mid point of a diagonal as centre passes through the vertices.
a8 JEGo g oy So|&orr SO ot R)Eo Freid Yo g SPéoh.

3 P.T.O.
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What is the angle subtended by the chord AB of a circle at a point P on the circumference ?
28 £)d0d" AB o3 arg H)d L0OD P ol Dot HE T oo ?

10.

11.

12.

13.

14,

L. The radius of the circle is 5 cm.
AL E:T,s.a‘gﬂ 5 2J0.8D.

[I. The length of the chord AB 1s 5 cm.
&g AB dY 5 0.0,

What is the value of 119x + 247y ?

119x + 247y Desd Jod ?

I. 118x + 246y = 482

Il.  xis greater than y by 2
y Sy x oD 2 JED.

What is the percentage of profit on the sale of 50 books ?
50 ayste H&&ﬁc}i% g Téo Jod ?
I.  The cost price of each book is ¥ 100.
(28 YSo Sy S G 100.
1.  The sale price of each book i1s ¥ 125.
(28 Yuto iy Eo Ju dr. 125.

What is the value ofn ?
N atds oo ?

L 17+2°+3%+ ., en'= 225
II.  nis apositiveintéger
n 2.8 HRFEE Yporosw
What is the-day.of 317 December of an year ?
2& Dondylo Gwondh 31D 88 2 oo wHthod ?

1. In that year the first of March was Monday.
o Doddyo w0y Ensd 86 Tthardo.

1. That ycar was a leap year.
o Doddydo HYy Lobdydo.
What is the Arithmetic Mean of the numbers x, y, zand t ?
X, ¥, 2, 109200 $0E DEE0 oJod ?
. x+2y-z-3t=K
. 2x+y+dz+6t=L
What is the equation of a straight line ?
2.8 D¢ T LE8mo Jod ?

"I.  The line is parallel to 2x + 3y = 5.

o Jp 2x + Iy =35 & Laroddo.

Il.  The line does not pass through the origin.
v Jw fwredodhdy) hoa Jith.
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15. What is the value of 8a° + ¥ - 27¢% 7
8a’ +b° — 27c” Desd dod ?

I. abc =k
I[I. 2a+b=3c

16. 'What is the distance between two ships ?
Cod Ldde ‘.&n-c;‘ig Grdsbod 7

I.  Seen from the top of a mountain their angleslufdepressinn are 60° and 30°,
Qg Fpdo wod Srduith o Ty Seres 60°, 30°.

I[l.  Height of the mountain is 60 metres.
DTLB0 e 60 v

17. Is (x — a) a factor of the polynomial f{x) ?
fix) 2i@008 (x - a) seSaro¥ar ?

L. fla) =0
Il.  The sum of the coefficients of f{x)is constant.
fx) fbeas~e dwdo povose

18. What is the simple intérest earned yearly on a deposit in a bank ?
28 2rgo A DS OT Jerdn HE LoFEh Jod ?

I. The.amount deposited is T 10,000,
ARG NS o e, 10,000,

II[:. The rate of interest is 8%,

& Téw 8%.

19. What is the surface area of a sphere 7
28 %o Hvde Frego Jod ?

I. The sphere is made of iron.
& F¢o amdwd Jabwdod.

II.  The radius of the sphere is given,
ffeo TgGo ARG od.

20. What is the value of x* + y* ifxy =17
xy =1 o8 x*+y! Desd Jod ?
I. x+y=5
. x>0,y>0

s P.T.O.
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(Marks : 55)

(Marks : 25)

A
(ii) Problem Solving
L’:-‘a‘mévg AR
(a) Sequences and Series
Note : In each of the questions numbered 21 to 30 a sequence of numbers and letters that
follow a definite pattem is given. Each question has a blank space. This blank space
is to be filled by the correct answer from one of the four given options to mmplete
the sequence without breaking the pattern.
AR (D)o 21 od 30 DB Hu (D8 [DHEEr alys ¥ RDowges M, 0T M)
28 (EDadID Jabdrd) Srdvamon. P8 [DhHS e &%) ar O alyo arenid
U)S"Y Dod WO wawd aows obEh Jobhrdd Yok fooar
Wrbodod,
2. 122:145::257: B
(¥r 290 (2) 299
(3) 401 (4) 497
22. 1001 :1332:: : 2198
(1) 1728 2y 1729
(3) 2413 (4) 2526
23. ABCD: ZYXW:G : YTUS
(1) EFHG (2) EHGF
(3) ~EGFH (4) EFGH
24, “Tiger : Goat : : : Herhivare
DO D g alcas el
(¥ Camivore (2) Omnivore
Evialets e le] = Ealeviili)
(3) Parasite (4) Inseclivore
Lo ghy T 3]
25. Quadrilateral : Square : : Triangle :
\:":.é.:ﬁ:-ﬂa:a : Bebd[o : : (Bghao
(1) Equilateral triangle [2‘)/ Isosceles triangle
daverary (Sibao ﬁhﬁgwm (Bgheo
(3) Scalene triangle (4) Right-angled triangle
e dmy |@ghzo vowEe (Bgbeo
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26.

27.

28, Enz—ﬂl:}:ﬂ::ﬂ_ﬂ_ 0

29,

30.

Wood : Chair: :
IR 5:5;]:: 3y
(1) Coal

>

(3) Hammer

Ice: Water::  : Ghee
D bf.:r o Rang
(1) Milk

e
(3) Butter

%)

“1

n’(n - 1)
(1) 3

35 n{n— I_;Iﬁ{in - 1)

ABCDEFG : STUVXYZ : : GECA :

(B~ ZXUS
(3) ZSXU

Volume of a cylinder : Area of curved surface of the cylinder : : -th :

: Ornament

(277 Gold

(4)

(2)

pomdo

Bauxite

wﬂr&.’:’

Curd
Wi

(47 Oil

o

(2)

(4)

(2)
“

n15n+ lf
4

nn+1)(2n+1)
6

ZXSU
ZSUX

‘{én-ﬁ.&c: abrm D00 - "f;;:"a'm obyde Frego nrh :

(1) nrh

(3 %nrh

(2)
(4)

7

2rrh

l'.ltrzh _

2

P.T.O.
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Note : In questions 31 to 35 pick the odd thing out :
AR ¢ (R 31 0k 35 HE% VOB hlovod.

3. (%) sin’r+cos’x (2) sec’x—tan’x (3) tan®x + cotx (4)  cosec’x - cot’x
32. (1) Eagle (2) Vulture (3) Owl (4¥" Crow
| oreI0ds the e ==
33. (1) ABYZ (2) CDWX (3) EFUV (4 GHTS
4. (1) P-4=0 (¥ P-3=0 (3 £-2=0 4 $-1=0
() G612 6,713 (3) (7,8,15) 4 (8.9.19)
Note : Each of the questions from 36 to 45 follow a definite pattern. Obsepve the same and

fill in the blanks with suitable answers.
feon® 1 36 od 45 0% He [}'ﬁlu 2 wﬁaé@f& .-T.‘Jr.ﬁ.ﬁ:ﬂﬁi\l Mﬁaﬁ'ﬁm- o3 Eﬂ‘.ﬁ‘é’:ﬂ"ﬁl

Hiado nodw Vargrared ardud {rdood,

3¢ L0308 10317 37
S 5%10%17426° ——"50
26 36 26 36
(¥ 33 (2 33 ©)\50 4 9
37, 6,12,20,30, 56 *
(1) 50 (2) 48 (3) 44 4y 42
1 8 27 125 216
B 2350 — T Y
16 32 64 81
(ij &5 @B -~ 05 © ) 33
39. 04y 1, 973716, 6, 25, 10, 36,
(1 15 (2) 20 (3) 25 (4) 30
40. 1,4,27,256,
(1) 625 (27 3152 (3) 1024 (4) 3125
41 E 3 ok 11
~ ey T * 720 5040
1 1 1 1
() Too 2} T3 3) 73 4) 335
4%, 4,7,12,19,28. .52
(1) 39 (2) 40 (3) 41 (4) 42
43. 1x8,3v6, 514,
(1) 7r3 T (2) 7r2 (3) 7v2 4) 7v3
44. 1,2,3!578]13]21,
(1 24 & 26 (3) 29 4) 34
45. 5,6,10,19,35,60,
(1) 85 2) 92 (3) 96 (4) 105
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(b) Data Analysis (Marks : 10)

46.

47.

48.

The following table gives the details of the 5 commodities A, B, C, D, E required, with
their costs, for a family in 2 month.

Study the table and answer the questions from 46 to 48.

¥ SHitvor g JuH WODGe § L% A, B, C, D, E Jhoren, SSu& 05 L%GE:&
uﬂéé‘ angadine.

D8 LOROOD 46 Dod 48 (LD Ve DiR0S.

Quantity Rate/kg in T
Commodity | required/month (in kg) 8&° &8 (Srodh
DS U SRUER WSO |y 1990 Year1995

@& Y Lobdydo 1990, | Jobsybo 1995

A ’ 10 70 100 v

B 15 40 45

C g 35 40

D 25 50 60

E 5 58 62

The total amount (in.¥) spent on all the 5 commodities by the family in 1990 is
1990 2oBSNBOL” oy 5 VHHLD © Hivowo TS Wdo Py (Eraradd®

M".Ei?: (2) 315

3) 302 (4) 312

The percentage of increase (per kg) in the rate of the commodity E from 1990 to 1995 is
1990 ®od 1995 HEH WHSH E S8 vhibide mdo (BE° 2.8) 088

(1) 203% 2y 6.89 %
(3) 34.5% (4) 17.8%

The amount (in ¥) spent extra on commodities B and C in the year 1995 than in the year
1990 is

VoSG0 1990 Eamy 1995 ﬂﬂﬂgﬁﬂﬁ‘ niHes B, C o JSpom wiy S Bdo
{ﬁ:-é'cﬂ:{f}

(1) 115 (2) 230

(3) 260 @180

9 P.T.O.




49.

50.

a1

52.

53.

38LA-61

The amounts spent by a person under various heads in a month is given in the following
Pie Chart. Based on this information answer the following questions from 49 to 53 :
af g8 S’ G e (Bod Sun wdny o (5cb Lhod® awgudna. S

Y erdo wgrdorm 49 2od 53 DED o [RHoS wargrTOngod.

If the monthly income of the person is T 54,000, then the difference between the amounis
spent on travel and food per month (in ¥) is
3000 Saraho &, 54,000 vard S0P, RoireeR SN Pl)Y B0 [Erarabd’)

(1 21,600 (2) 16,200 (3) 6,000 (4) 12,000

If the amounts spent on savings and children education put together is T 22,000, then the
monthly income of the person (in ¥)4s

oo B, Pdpep o &y . 22,000 swd o 98 [0 wordbo
(Grarabd®)

(1) 75,000 (2) 66,000 (3) 72,000 Lﬂ'}/ 36,000

The amount spent on children education is equal to the amounts spent on which of the
followingtwaheads 7
pele P Bk pE) (B0d FEEF ) TodotT o s W0 ?

(1) Entertainment and miscellaneous  (2) Travel and miscellaneous

D S0, addnes Dubreo, addines
(3) Savings and travel ( Savings and entertainment
ey, [Wabreo SR, e G0

If the amount spent on house rent in a month is T 5,000 more than the amount spent on
travel and savings put together, then the monthly income (in ) of the person is

(hatreo, DY) Jododn Mo piy) 537 R0G BT &r. 5,000 b pd) B
80 I0D warabo (Erdradd®)

(W 25,000 (2) 90,000 (3) 1,00,000 (4) 45,000

Monthly savings percentage 1s
Jund oy Téo

8 2 1
(1) 13% @ 135% (31/13;% ) 14%

10
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55.

(c)

57;

58.

In a group of 75 students 28 students study Mathematics (M), 32 study Physics (P), 30
study Chemistry (C) and 15 students study none of these: 13 study both M and P, 12 study
P and C and 10'study C and M. Based on this information answer the questions 54 and 55.

75 oo g’ 28 1 Adderd) (M), 32 oo FTBE 79 (P), 30 Wb Srdb
e (C) e sorr 15 2od OBS* Fn SEDD. 13 wod M, P; 12 wobd
P, C; 10 o8 &:J‘EQJm C, M o S5hgerd. € wrordo werdon™ 54, 55 [Heb
vargraragod.

The number of students who study only Chemistry is

Srabd ware) Sr(ED S0 dargho Lowg

(1) 13 (2) 14 (3) 15 [n;/lﬁ

The number of students who study Physics alone is
J BE F°90 'a‘:ﬂ_éﬁ:l Etar ;:E!“ggh'_r ong

(1) 10 ™13 3) 12 @ 15

Coding and Decoding Problems (Marks.: 10)
The letters of English alphabet are arranged cyclically. Then the letters are coded as

follows : (i) a vowel is to be coded as the second vowel after it in the clockwise direction.
and (ii) a consonant is to be coded as the second consonant after it"in the clockwise
direction. For decoding, the inverse process is to be followed. Based on this coding and
decoding system answer the questions from 56 to 60.

wolf vare & wiorumn S8abbm w80, v [B0d Ao §°6 Dabudind.

(1) 28 sy, Db 8%, ool Soogd Todl ey 58 Sabuddd,

2) of rev, Uiy 83 (R Bored To&' reo® §'6 dabwind. 48'Goh
Jabaeng D&% DAY _SN00TD. & g aof, 45%%ch ugrdorr 56 2od
60 S35 fo (LoD vargrarUngod.

Code word for HAND is
HAND %, 8°6 580

(1)« \KIQH [2)/ KIQF () KIPG (4) KIQG

The word that is coded as RIUT is
RIUT r= 58 Jcberdd H&&n

(1) PAIR (2) PAIW (3) PAAR (4) PUIR
The word that is coded as RNIVO is

RNIVO e 5°8 Dobaadd Dt

(1) TLATE (2) PLATA (3) PLASE (4) TQUXA

The code word for LEAVE is
LEAVE & &8 55w

(1) NOIXO (2) NOIXU @~ JUOTO (4) JUOTU
The word that is coded as QUEUE is

QUEUE r~ & dabadd Ldam

(1) NIOIO (2) SEOEO (3) NIUIU (4) SIOIO

11 P.T.O.



61.

62.

63.

(d)
66.

67.

68.

L

38L.A-61
If the word COMPUTER is coded as RFUVQNPC, the code word for MEDICINE is
COMPUTER Lhor08 &8 L¢o RFUVQNPC scw@ MEDICINE % &G DeSaw
(1) EOJDJEFM (21/EMIDIFEM (3) EOKDKFEM (4) EOLDLFEM
If the word DWUKPGUU is coded as BUSINESS, the word MANAGEMENT is coded as
DWUKPGUU % 5°6 D5aw BUSINESS wavd MANAGEMENT % 5°& dSaw

(1) KZLZECKCLR (2) KXLXECKCLR
(3) KYLYECKCLR (4) KYLYEDKDLR

If the word CENTRAL is coded as LARTNEC then-the code word for SEMINAR is
CENTRAL Horo8 858 154w LARTNEC wopd@ SEMINAR & §°G Daw

(1) RINAMES (2) RANMIES (3) RAMNIES (4) RANIMES
If the word FLUTE is coded as EJRPZ, then the code word of PLANE 1s

FLUTE & &5 55w EJRPZ wond PLANE % B8 D55

(1) OIXIZ (2) OIXKZ (3) OIXLZ (4) QIXLA

If the code word for VICTORY is XKEVQTA then the code word for SUCCESS 15
VICTORY £ £°5 254w XKEVQTA sop@ SUCCESS £ 86 W&o

(1) UWEEGUU (2) VXFFHVV (3) UWEEGVM - '(4) UWEEHUU

Date, Time & Arrangement Problems (Marks : 10)
If the first day of March in a year happens to be Friday, then the day on which Indian
Independence day falls in that year is

28 LobSYB0S* Wl Su BsY Fe HEo vwd ¢ Vobd o’ I

A

Frdodsedno irﬂg 6les
(1) Monday {l)l Tuesday (3) Thursday (4) Saturday
Htsnardo woli¥ardo fhdardo Bokerdo

If a clock-shows 1 5 minutes past 3 O’clock then the angle between the hours and minutes
hands 1s
L€ HEWRE0 3 Ho. 15 2. Lairdy Dol fobe, wire e g S'eo

1) 20° @) 30° 3y 400 4 175°

If the minutes hand of a clock is facing South, then the direction of the minutes hand after
210 minutes 18 '

2.& fGairdod®n Jnire toew Sipo J) e ipod, 210 Jwire SHTE Javare
fwe rDod &%

(1) North (2) East (3) West (d-/éuuth-‘h‘u":st
G800 é:*ﬂ:;} Al le] letle

A is the mother of B and éﬁ) is the husband of C. Then A is related to D as
B,CowayA.C L SED. i D S A (S0b ponogrd) Z8h dodnod.

(Ly* Mother-in-law (2) Mother
wdrmrd H‘é:a
(3) Daughter-in-law (4) Father-in-law

Effes b g ulwh]

12
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70.

T1.

7.

73.

74.

735.

Four buses B,, B,, By, B, depart from the station §, and arrive the stations 5, and 5,. The

bus numbers and the order in which they depart or arrive is not the same. The first bus to
leave S, is the second to reach S, and the third to reach S,. The first bus to reach S, is the

second bus to leave 5, and the last bus to reach 51.

Based on this information answer the following questions 70 and 71 :
Freotd wizyes By, By, By, By S, o8 wabesdid S,, S, fgﬁﬁmé DhHodron. W

Soudh M, 8 wabesdd Sar THHS Vwdbres 248 59 S, Dod wabesd I
oy 630 S, B FTHEF e Toa'e, S, » TOOI T8E" Lrds oydod.
S, © DHHT IS w0y 30 S, Wwow wahesdd st Soffe, S, b TLHI
i U508 wHod.

& Varordo sgrdom (808 70, TI (RHod UrerarORg04.

The first bus to reach the station S, is
S, = oI Sdanddd wa) '

() B, 2B, (3) B, (4 B,
The second bus to reach the station S, is

Disk 8, THHT Tol’ i)

" B, (2) B, )y, B, (4) B,

In a queue, Anitha is the 10™ from the-front while Meena is 25" from the last and Mohan
is just in the middle of the two. If there-are 50 persons in the queue, the position of Mohan
from the front is

2 HEHHSE Dood Rod 10D Fhod® 6dd, T8 wed 25 2 gams:‘ e aod

£0ak VO HBE0 RS IS aTm. HEHS Ivdo 50 Wod ByHesod twotd
od BrpS Al FU0

(1 20" (2) 19" (3) 18" .:4/ 17
Ifa®b =@+ b+ ab fora, b € Q then the value of x satisfying (1 # 2) »x = 131s
a,be Qo asb=a+b+abwowd (1+2)»x=-13W &%) WO x Jesd

() 1 (2) -3

(3) 2 @ -2
h——]' 2013
a —ab+l:::“§! nx(n+1)=
1 1 -1 _ 1
(1) 2013~ 2013 (2) 2014 ‘——qu (3) __2[]14 {(4) 2013~ —2'}14
. ab Peisdctinch
Ifasb=a+b——=1%a, beRandif ¢ is a non-zero real number, then the value of

2
x satisfying x # ¢ = X 18
ﬂbla,heﬁc.aé: a-b=a+b~%=c&#3§éﬁ TEm Wowg wowd x*c=xw &)
DD x JesH

(1 1 (2) 2 (3) 3 4) 5

13 P.T.O.
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SECTION -B
Mathematical Ability
el Lﬂ‘ﬁnggii
Questions : 75 Marks : 75
[odyes 2 75 wrdopes : 75
(i) Arithmetical Ability (Marks : 35)
8-(21-6° . -8 B
76. lf{:;ﬁ}l.g‘*.(]g}l"z . 3F thena+ p =
g3 . {37}1 -6 - 13 » a;
G679 (187 2030, wand, sy a+p=
() -7 (2) -8 (3) 9 (4) 8
77. The smallest number among
V4,307,453 is
Y4, 7. 45,3 e* 835 Vowg
) 3 @ {7 & 45 @ 3

78.

79.

80,

81.

82.

If(a+b):(b+c):(c+a)#2: 3 :%and a +b +c =9, then the value of c =
{a+h]:[h+u}:{¢+a}=2:3:4i‘ﬁﬁd‘ina+b+-c=9@tm§,m‘bﬁc£ﬁ:é&

e =
(1 3 2 1 3) 9 @ s
# circle and a square have the same area. Then the ratio of the side of the square to the

radins of the circle 1s
28 Dyday 2oOd 28 W 2.8 ETH‘,E:H_ £0A aamow. Uy © Seéd|mo

gherd8. ¢ D)go argrGRunt &g o Jand
(1) m:1 @) 1:m (3) \r: @ 1:=

o+ 2+ 3+ 21J6 ~
(1) 1442406 @) 1+42+33 3) 2+33+2 (4 2+3+46

(e, =)
NN R

(1) 196 (2) 28 (3) 435 (4) 144

The number that is exactly divisible by 11 among the following is
&: BivHS alyd omged® 11 3 pdydorr e Noled Lowg

(1) 9999999 (2) 88888 (3) 1873410 4y 2345432
&Y H |
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83.

86.

87.

§8.

The remainder when

73 x 79 x 81

is divided by 11 15

73 % 79 x 81 D 11 & errAgURpeb STy Hadw
(ﬂ;

(n 1 (3) 7 4 9

The greatest 4-digited number which is exactly divisible by each of the numbers 18, 24
and 36 is
18, 24, 36 Vowged (LB d& pddormr yricuwd sred soSy Dopged® Moy

womg .
(1) 1008 (2) 9999 [3./ 9972 (4) 9936

If the l.c.m. of the positive integers a and b is 60 and a® - b* = 32400, then the.g.c.d. of
aand b 1s
Bod ey S Lowges awbAb b & €30 10 60 0k a? - b? = 32400 wand, By

a$n0d b o o), A.mer.

(1) 30 (2) 18 (3) 3 (4) 9
If|x 6| =5 and |3y - 12| = 6, then the makimum yalue of §=
|x-6|= 5 20a |3y - 12| = 6 S, el 'E::TJ.‘::EE_ (0% Sesw

11 11
M 6 @2 B @ 3

1 .
[f 3 is addedto the denominator of a rational number then that number becomes 3 and if 4

- . : 3 ;
is ddded te numerator of the same rational number, then it becomes :1_' then that rational

number is
l
2% widdab Dowg ), HFos 3 008 vyt © Logg 7 wYHd. Sbah ud

o 550h Domg e, varDs 4 $60E e ; sihSod. sy ¢ e¥Shc Lowg

4. 3 5
M 3 @ 3 e @ 5
The difference between the biggest and smallest fractions among
1554
2695
1574 y - s
2605 ot Hog bah 3% Poyive Weg Poo
1 5 3 1
w3 @ 33 3 1o @ 3

15 P.T.O.
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The ascending order of the rational numbers

13,11, 15, 8=

141216119

13 11 15 8

7 16 1 250 Lowge Sy wGdrm (Fo

1 _E.{E.;E.‘;i 2 E-{E{u‘:]_j-

) TT7<1a=1s"12 @) 171312716
§ 11 13 .15 i3 1115 8§

@ <1< SR TRETRAT AT

If 7% of 5% of 8% of x is 105, then x =
x Glo¥y 8% 8, 5% 5 7% Jesd 105 soptypds x =

(1) 375 (21 3750 (3) 37500 (4) 375000

If the length and breadth of a rectangle are increased by 20% edch, then the area of the
rectangle increases by x%, then x =

28 OY S&O[Ro GhE) TE) Soah DeoSEHBaNR 20 Tdo Do, © &g
Héifoc Frougo x % whtbdol. Ly x JeiR
(W 20 & 120 (3)\ 24 @) 144

An article when sold at a gaid of.5% yitlds rupees 15 more than when it is sold at a loss of
594, Then the costprige©f that article in rupees is

2.8 SN0 5% tPRLd- @iy, @R 5% wgrod vapnary ¥0B 15 drardbw
D awot. Ghyh ¢ Sy §'9) wid. gr.od®

(L 75 (2) 100 (3y 150 (4) 200

By selling 15 items, & seller recovers the cost price of 20 items. Then his profit percent is
15 Sugue wdo oRgoT 2% Hsrmerdd 20 S FW) diw oudord

gy edd oz ralale]

(1y 25 (2 33% (3) 20 (4) 35-%-

A. B. C entered into a business with a total capital of T 50,000/-. A invested T 4,000/-
more than B and B invested ¥ 5,000/- more than C. If there is a total profit of ¥ 35,000/-
then A’s share in the profit, in rupees is

A, B, C e S0 Laretino e 50,000 e 2% aﬁvgﬂ‘ﬁﬂﬁtﬁ @ﬁﬂﬂ“ﬁzf B Eo@ A
Gr. 4,000 &S Hpd Bipd . C 0B B & 5,000 JE5 Dpale Dl
S04 HOyo Awdo ordfo & 35,000 wopd, oo’ A avd), S, drarabes®
(1) 8,400 2) 11,900 (37 14,700 (4) 15,000

16
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95.

96.

o1.

8,

99,

A, B and C are runmng a business by investing the capitals in the ratio 2 : 4 : 5. I C's
share in the profit is T 2,200/, then A’'s share in the profit, in rupees, is

A, Bdah C w af aogaroel), Dipwihe Jng 2:4:5 & whigydbay . erdfod?
C orér &r. 2,200 oad, ek ovgfod® A Gl arér, drarabed®
(1) 400 ¥ 800 (3) 840 (4) 880

Two pipes A and B can fill a tank independently in 20 and 30 minutes respectively. Both
the pipes are opened simultaneously and after 6 minutes tap B is closed. Then the total
time taken, in minutes, to fill the tank, is (assume that the tank 1s empty nitially)

A 20k B o Sok PHw M HEVM 20 HOah 30 Jnired’ 28 &Y
Nonruy). Sodk MYt 2¥ stwod® 809, 6 Haltwy ddard WY B O SrifSd,
oLy v T Jobard LT Dydhe Vbdbo, e’

([Frdodfos’® &8 w O solatiod).

(1) 10 2) 15 @ 16 (4 2

Tap A can fill an empty tank in one hour, while a drain_pipé B can empty that full tank in
6 hours. If both A and B are opened at the same instant, the total time taken to fill that
empty tank, in hours, is

S Aad o 8T 0.8 e AR08, 2.8 wrd T Y B Lo Jobs ©
&FT 6 foked® wrd Jwéd W hdak B o Sododl JE steod® (28 r0) 807,
O &) o FFYIoderAS LF wadbo (Hoked®)

3 3 2 i
3 & s '3 (4) 3

Anfrain travels a distance of 60 km in 40 minutes. If its velocity is decreased by
15 km/hour, then the time required by that train to travel the same distance, in minutes, is

2.8 Tw wod 60 85°060Y drov)y 40 Jndrad® Daraizod. ol Sl Hobk
15 85 andd ﬁﬁ'_ﬁg ¢ Jeowold o &roedy ([wabrmo wabGrna seholih wbabo
Tewared®, 4
(1) 45 (2) 60 (3) 54 @y a8 S

A person travels from A to B at a speed of 75 kin‘hour in a car and returns from B 1o A by
reducing his speed by 15 km/hour. If the total time taken is 3 hours, then the distance
between A and B, in kilometers, is

28 D8 of 5oBS® A oD B & Hob® 75 3S°DbE FoF pabrwo TN, edd
od® Kobd 15 85D THPS SNow, B dod A & 800 Lok, ©d8 DYS
Ao sPLo 3 Hobes wand, A oah B o el Lidy) drdo, 8S oS

(1) 100 (& 80 &y 120 (4) 160
17 P.T.0.
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Two persons A, B can together complele a piece of work in 12 days, B and C together
complete the same work in 8 days. If A, B, C work together, then that work can be
finished in 6 days. Then the number of days B alone can finish the same work is

A, B w addr S0 2.8 DA 12 Serd® Yrg S, B, C w addr 00 of 1A

8 Ferg” rd I®. A, B, C o Swipdr £82 WO B © L 6 &erd® Oro
Cabliod. B 25,8 L0 Uro dabes UF S Dowg
(1) 16 (18 @) 24 @) 30

A, B, C can individually complete a work in 20 days, 15 days, 12 days respectively. B and
C start the work and they worked for 3 days and left. Then the number of days required by
A to finish the remaining work is

A, B, C 20 262G 2% LA DL 20 Sarewn, 15 Seren, 12 ered® 0

dabifeth. B Dodh C o D00 Sdeodd 3 e 0D 0 0D 550 30D,
DA DA A g Jabel8 D e Lowg
(M 11 (2) 14 (3) 12 (4.9

If the length of the hypotenuse of right angled isosceles triangle is 12 cm, then the area of
that triangle, in square centimeters, is

a8 wouSm Undgwrdro (Bibzo GhET $0&/EY 12 VoD owd, o Bbeo
Sego SE8Y Dol DeES®
(1) 72 (2) 36 (3) 144 (4) 24

If the lengths of the diagonals of a rhombus are 18 cm and 24 ¢m, then the area of the
rhombus, in squdrecentimeters, is
28 D ShdpRe’ abE) $8ive Pdyes 18 oD Wb 24 o wwd, v L

St eo L) ITuge, BESY Do, vt
(1) w108 (2) 225 (3) 432 (4) 216

A cylindrical bar of height 1metre and base radius 0.75 metres is melted and cast as a
sphere. Then the diameter of that sphere in metres is
28 sl 56 QS I 1 D6 DO T g Tgdrgin 0.75 Do, TR

28000 2.4 Fidorr 2% 30, woypdh u i'go Gy g0, i‘»ﬁgﬂ’
(1) 2 @) 1.5 (3) 0.75 4) 0.50

T'wo boxes have square bases. The sides of these bases are in the ratio 2 : 1. If the heights
of the boxes are in the ratio 1 : 2 respectively, then the ratio of the volumes of the boxes in
that order is

vgrbo Ladrstdorr HOMn Tod VJw aomw. & sgrore gheres 2 @ |

RDBS” G, VP dbes DELM 112 APBS° $08, v B Db VOrEre
Kﬁ% s Lﬁ"&nﬂﬁ"
(1) 1:1 2y 1:2 (3) 3:1 (4) 2:1

18
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106.

107.

108.

109.

110.

The radius of a cone is 3 times the radius of a cylinder and their heights are same. Then
the ratio of their volumes in that order is

o oy aE wgs?r*gu, 2.8 ';;?E)u a*gﬁ*ghﬂ% fomth Cén god. o8 e
LdorhorT damon. B 88 Lo DoErare e, TYa) Lﬁ&aué“

(1) 9:1 (2) 1:3 (3) 3:1 (@) 1:9

A window is in the shape of a rectangle surmounted by a semicircle. If the length of the
rectangle 1s 6 feet and the radius of the semicircle is 2 feet, then the area of the window, in
square feet, 15

2% 3098 Gb¥), w580, af BF BHBROW 28 vdR)Eo S Qo Dbt gob. © &Y
Lo TED 6 ehibes Lok sfydo argd-go 2 edibe wwd, v 888 GBE)
Srego, WEby wibbed®

(1) 18+ 4= (2) 24+4n (3) 24+ 2n (4) A8 % 27

11 cubic metres of steel is cast into cylindrical bafs of diameter 10 cms and length

1.4 metres. Then the number of such bars that can-be cast with the given metal is
!

[Take n= %J

11 b Hod 6% 10 YD) 3l DO 1.4 dag TEY KON grarsed
e DETF D s ATV SFirod ST aHHONS verbod E§e Lowg

['.r't = % ™ EK.&EGG&)

w10 @) 100 (3) 1000 4y 10000

The difference belween the largest 3 digit natural number x satisfying x = 5 (mod 8) and
the smallest 3 digit natural number y satisfying y =2 (mod 5) is

x =5 (mod 8) 2 &) vl 0% surh woSw weresowgs, y = 2 (mod 5) o EWH
£ Sardh woSe Wre Dowgs wdg fe 2o

(1) 895 2y 0O 3) 1 (4) 9595

If 38 = x (mod 10) and if 0 £x <9, then x =
348 = x (mod 10) 20ap 0=xs9 e 00, HT-’J;))&J.::=

(n 1 2) 3 3) 5 4) 9

12 P.T.0.
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Algebraic and Geometric Ability {(Marks : 30)

If p and q are two statements, then which one of the following is a tautology ?
P, 4 e Sodh Phdared, (08 o°8E° 20 Jég Dégo ?

(1) pvi~p) (2) prl-q () p~rq 4) prgq

Which of the following is equivalent to the statement P — Q 7

|Bod a8S° 28 P = Q 63 (WHdards dogo ?

(1} PAQ (2) PvQ (3) ~PvQ . 4) ~QvP

Set A has 5 elements and set B has 10 elements. Then the possible maximum number of
elements in A Bis

2.5 008 A & 5 froste, 28 B & 10 Arustw 408 A U B 08<° J0gom
GOG WPUS U Vowg

(1} .5 (2) 10 (3) 15 (4) 50

Let A be a non-emply set and P(A) be the power set of A. Let R be a relation defined on

PA)by XRY =X Y V X, Y € P(A). Then R 15 not
A 2.8 %‘23555 endd, A a8y are o8 P(A). b8 \P(A)/w 2.8 wowodo R <) @'JE

X.Y e P(A), XRY &> X g Y ™ JgOR), Lowdo R (80050 28 7% 2

(1) an antisymmetric relation (2) a transitive relation
28 [LEI"UD (antisymmetric) 0021040 2.8 Lo|gd wowogio
(3} asymmetric relation (4) areflexive relation
a8 Tgo vowodie a8 DOHIN wowogo

If a function £ : R < R.iswdefined by f{x) = x? + 1, then £-1(26) =
2% [Dabdho fUR »R 2 flx)=x2 +1 o~ Abew £1(26) =

(1) (fhe efnpty set, %5 (2) {\/26,-+/26}
() 4503} (4) {0}
If a line passes through the points (3, —5) and (-2, 7), then its x-intercept is
(3,-5). (-2, 7) Dodopo hoa= Fad LEE0w ), x-wodd wodiw
-5 12 11 11
(1) 37 2) 17 ) ey @)
The length of the intercept made by the line which passes through the points (2, 5) and
(-4, 8) between the coordinate axes is

(2, 5) (-4, B) DoPe hoa G LWEETy Rrbs 3Ty g nr @odd wodo
Feleh)

(1) 15 C @) 13 (3) 65 @) 63
Ssinf-3cosh
sin®+2cos0
Ssinf-3cosB
sin@+2cos@

If 6 lies in the first quadrant and 5 tan © = 4, then

B Fwdd B0S D oo Bch 5tan 6 = 4 sond

1 2 3 ]
D T G = ) 4 @ 12

20
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119.

120.

121.

122,

123.

124.

i

£ + ¢ =3, then (1 +tan 0) (1 + tan ¢) =

H+¢=% coond (1 +tan 9) (1 +tan ) =

(1 - @ o0 @3) 1 @ 2
(cos?15° - cos?75%) (sin 65° - cos 35° — cos 65° - sin 35°) =

1 ' 3 4
m 3 2) 32E (3) 3 @ 3;';:

Two poles of height 15 metres and 30 metres stand upright on a play ground. If the feet of
the poles are 36 metres apart, the distance between their tops are

15 5. $»0af 30 &, I He Toth Pogres §8rIE LORON™ GBI, © por
oo Wiy drdo 36 Dbgand a8 e g rdo
(1) 35 metres/&. (2) 37 metres/ab.(3) 39 metres /& (4) _4Nmetresy/od.

If the polynomial

ard + b + 3 - dx -4

is divisible by (x* — 1) then (a, b) =

adt + b + 32— dx -4 o addd (2 41) 8 Sl e Nodudd (a b) =

(1 4,2) (2) (1.4) 3» (-1,4) (4) (2,-4)

If (x - o) and (x — B) are-the factors of the polynomial fix) = ax? + hx + c, then the

quadratic polynomial whose factors are( —5 and[ —%} is
fx) 2ax? + B% + c 2dmbes (x-a), (x—P) e ST oS LaNS, [x»i-),[ _Iﬁ)
sréePosTeaT Mo DY R

(1) c®-br+a (2) co?+bx+a (3) ex’+br-a (4) cxl-bx-a

If63 % 65 x 67 x 69 is divided by 12 then the remainder obtained is
63 x 65 x 67 x 69 &3 Dowga 12 I Ny HEY B0

(n 9 ) 7 (3) 3 (4) 3

A polynomial in x leaves remainders 8, 4 when divided by (x + 2) and (x — 2) respectively.
If the same polynomial is divided by x* — 4 then the remainder is
2% IPHBD (x + 2) 2O (x - 2) oF A ) Faresr HELMT 8 DO 4 v

o8 P (2 - 4) 3 erady HT) Fo
(n 12 2) x+10 (3 6-x (4) 32
21 ‘ P.T.O.
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If x+y=12
y+z =20 and
z+x=18

then x—-y+z=

r+y=12

y+z=20

z+x=18
wapd x-y+z=

(1) 25 (2) 18 (3 11 4 7

A person has a certain number of two rupees coins and some five rupees coins. If the total
number of coins is 16 and the value of all the coins is T 50, then the number by which the
number of two rupees coins exceed the number of five rupees coins is

a8 De& & E') Tod Graraby orarw, b o) 5 drardbe e I, &

55 &%) Wwdo Tare wowpg 16, 38 o Jesn, 50 LnIpades wovd, Tol
Yrardbe Srere wowg S Grardbe Srere wowg ST Saes 5 7
(1) 5 (2) 6 (3) 4 4 2

2 :
If the first and the sixth terms of a gegmetric progression are 3 and 162 respectively then
the 8™ term of that progressionis
2. the [AEE°0 & U Yorws DM % , 162 wond & (#3485 Vo
(1) 324 (2)- 729 (3) 1084 (4) 1458
Three humbers are in an arithmetic progression. Their sum is 3. The third number is

greater than the first number by 16. Then the product of those three numbers is
QD Dowges oS’ aama. o8 wdo 3. Wrdh Lowg e Towg Sam)

16 Jé:a.’i:w ond, o mvdh $o3u @0
(1) =63 2) -36 3) 12 4) 24

The term independent of x in the expansion of
(3#3 i)ﬂ is
X
[1r3 - 35 D8 Dedod Lo (x T S0)
(1) 2Mx3x72 (@) 22x3¥x7? (3) 24 x3¥x7 (4 2P2x3*x7

If P is the sum of odd terms and Q is the sum of even terms in the expansion of (x + y)",

then P2 - Q2=
(x + )" DEeED B dare Wwdo P, V0 Doy Svdo Q wawd PI- Q=

() -y (2) (x-y)©" (3) (x+y)* (4) -y
22
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132,

133.

134.

135.

136.

137.

4 00
If Ais a3 x 3, square matrix and if A Adjﬁu“—[ 0 4 0 ] then det (2A) =
0 4

4 00
AnSlIx3uras AAdA=| 0 4 ﬂ}\thmdg{[;&}:
0 0 4

(1) 4 (2) 32 (3) 8 (4) 64

lim X*—3x-10

A=S x2_Tx+ 10

. 7 -3 "

(1) 3 (2) O (3) 5 (4) does not exist
"égi)ﬁéus'ﬂfa

1 1 d
Ifr=l—'t',y=t+Twheret isapara.meterthenaxi=

1
x--i--Ti:.r-—*H%wcﬁ}gﬁ:gam t 2% Dordd wond gf

(1)

@ 3 W\ @ 3

b

If A is a square matrix and A" denefcsits transpose then the matrix A - AT is always
A 28 A0 (B8, ol Ay Rededbo AT wond @8 A AT Jedrpdr

(1) asymmetric malrix (2) askew symmetric malrix

2.8 T g8 wdod. 2.8 B un (2K wydod.
(3) anoerthogonal matrix (4) anull matrix

a5 Sduon w38 auydod. .8 Trog ara ehdod

When a piece of wire is bent in the form of an equilateral triangle, then the area of that
triangle is lilﬂuﬁ cm?. If the same wire is bent in the form of a circle, then the area of that

circle, in square centimeters, is (takr: n= _2}'_)
af 3 WwHD Vel @bz Erbod® Holhdyd o (Bobe STego
1213 S0.d. of 8id 28 H)do Erdod® Hod, o D)8 Ireogo, WEEY)

2odogs’. (r=2 m btos)

(1) 2585 (2) 346.5 (3) 3645 (4) 3855

The sum of all the internal angles of a regular hexagon, in radians, is
2 S0 Wb)ES'D wodd S'ery Mo, JAabpS”

(n 2= (2) 4n (3) 3n | (4) Snm

23 P.T.0.
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141.

142,
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If two circles of radii, 7 cm and 10 ¢cm respectively touch each other internally, then the
thstan ce beiween their ctntmﬁ in centimeters, 1s
7 20w, s00Uls 10 0.0 Tl Cl"u.ll fie Bod Hyerw voddonm 0 FohHoB, o8

So@re g drdo, m\jmtﬁﬁi
(1) 17 {(2) 3 (3) -3 (4) 5
It the mid points of the sides AB and AC of a wiangle ABC are (4, -2), (-8, 14)

respectively, then the Iength of the side BC, in units, is
a¥ |@2bz=0 ABC &° AB, AC ghere bﬁg Dolbgyes D™ (4, -2), (-8, 14) wopd

ghezo BC Gy, . abrdbe®
(1) 20 (2) 30 (3) 40 ' 4) 60
The distance between the lines

= | and 8x + 6y = § in units, is

'3
T+i=190a 8r+ 6y =5 LE¢Bpe Disg &rGo, ahrRRE®

9 19 19
@ 3 @ 15

Statistical Ahility (Marks : 10)
The mean of 6 observations is calculdted as 28 and later it was noted that one of the
observations 1s wrongly taken as24 inStead'of --24, then the correct mean is

6 WDReHe wok bﬂﬁgﬁ?u'}l 24 ™ Adoln ddard 89St ¥ LBRUSSY 24 %
wheon 24 o EprmalBytm KRN, ¢ DOEN wo¥ o

i1y 40 3 32 (3) 24 (4) 16

e

(1)

The medianaf 15 observations is 32. Each of the observations greater than the median are
ingreased By'8 and cach of the observations less than the median are decreased by 6. Then
the median of the new data is

157 003Uy dgrdo 32. Hijghdo Samy HpdHr Gy (08 VORHG § LO>H.
205” wEgHdo S SEpbm &b (D8 LOTUD Wb 6 SV, Fd Seromll
wgighdo

(1) 46 2 18 - (3) 32 (4) 40

The mode of the following distribution
10,13,16,13,19,24,13,9,24, 13,2615

(5o darenam
10, 13,16, 13, 19,24, 13,9, 24, 13, 26 8 eriodsy
(1 26 2} 17 (3) 13 (4) 9

If the standard deviation of the first n natural numbers is t then 1212 + 1=
Sn&eS n Dire Dowgy (S Juno t wond 120 + 1=
(1) n?-1 (2) n? (3) n?+1 (4) n?f+2

S 24
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145.

146.

147.

148,

149,

150.

If the standard deviation of a variable x is 12 then the variance of the vanable 2x + 17 s
¥ SR x J.:E:Ear & O¥eho 12 wopd Seoe? 2x+ 17 -:ﬁuégr e A0

(1) 24 (2) 288 (3) 576 - (4) 4l

If 3 coins are tossed, then the probability of getling at least 2 heads is
S oo HHEEY E00 To e B Dogragd

1
8

20 |

1
M 3 @ G 3 )

When 2 unbiased dice are thrown, then probability that they show up different numbers is
Both JarHEE DEUD ol i MON) Dows TREAS LoFTHgd

1 11 5 ? 23
M 3 @ == ) = @ 3z

In a bivariate distribution X, Y, i =1, 2{..5, 8,ifd, 1s the deviation between the ranks of
£
X, and Y, and ig.] d; = 21 thenthe coefficient of rank correlation between X, and Y, is
2.8 Oe8 Deraido X ¥wis 1, 2., 8 &° X, b0db Y, Gy, E¥ 430, g Do d,
B
wpde, 2 £ 21 sard. X900 Y; e g 8 1 Lowog bt
() 10.25 (2) 0.50 (3) 065 (4) 075

If 5 boys and 4 girls sit in a row at random then the probablity that boys and girls sit
alternately 15

5 ot 2 ealh, Heslhlh ardEes o8 HELST ai:rc;&q}ﬁnrrv grdnol areod, 2rd¥w
Jsroddor (2,50 Ehard wEB) oGS Dogragd

] ] 1 :
) (2) 775 (3) 120 @ &

When a leap vear 15 selected at random then the probability that it has cxactly 52 Sundays
15

a¥ O Doddyordy abmgyysort Joih%o8 © VobéBodt wydorr 52
wdarorewotdrOs vogragd

2 3 1 ]
T & 5 (3) @ =

1

25 P.T.0.
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SECTION -C
Communication Ability

Questions : 50 Marks : 50

151.

152.

153,

1541

155.

156.

157,

158.

159.

160.

PART -1

Choose the correct answer

A situation in which goods or shares are plentiful and buyers can keep prices down is
called

(1} abuyout (2) abuyer’s market

(3) abusiness proposition (4) abusiness deal

A difference in wages between industries or between categories of employees in the same
industry is referred to as

(1) differential (2) differential equation
(3) differential calculus (4) differentiate

A large corporation formed by the merging of separate firms i1s known as a
(1) congregation (2) conglomeration

(3) conclave (4) consul

Celebrities who endorse a product are refemred to'as

(1) Brand Managers (2). " Brand Ambassadors
(3) Super Models (4) . Glamour Kings
Stocks, shares and bonds are collectively known as

(1) Cumulative preference shares (2) Dividends

(3) Securities (4) Equalities

A computer langaage that is used for creating websites is known as
(1) X-files (2) XML

(3p, XL (4) X-certificate
Connection of networks that can be joined together is possible through
{1) Intranet (2) Extranet

(3) Virtual private network (4) Internet

ISDN stands for

(1} Integrated Services Digital Network

(2) Integrated Subscribers Digital Network

(3) International Services Developers Network
(4)  Integrated Services Developers Metwork

ELD stands for
(1) Electric Lamination Display (2) Energy Luminiscent Display
(3)  Electro Luminiscent Display (4) Energy Lubrication Display

The connection between a computer and another piece of equipment is
(1) parallel processing (2) parallel bar
(3) parallel port (4) parallelism

26
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PART -2
Choose the Correct Answer,
161. A: “How is your business 7"
B: “I'mbroke!”
B’s answer indicates that
(1)  he has taken a break (2) heis heart-broken |
(3) e has suffered heavy loss (4) he has broken a record

162. A: “You should not have spoken so harshly to him. You know that the fault was yours.”

B: “Iknow. I'll have to eat humble pie.”
‘B" implies that he has to
(1) eato forget (2) atone
(3) apolsgise (4) forgive himself
163. A: “I have two tickets for the movie tomorrow. Will you come with me 7
B: "“Could you invite someone elsc 7 Movies give'me «a beadache.”
‘B'is
(1y 1l (2}, ‘busy
(3) not A’s friend (4} not interested in movies

164. *T don’t think his jokes ever come off.”
The speaker implics that the jokes were
(1)  unsuccessful (2) brilliant
(3) uninspiring (4) unwelcome

165.7 The passive form of the sentence “They are not going to play the match today™ 15
(1) The match 1s not going to be played today.
(2) The match was not played today.
(3) The match had not been played today.
(4) The match cannot be played today.

166. A: “I'msorry I couldn’t come to your party as [ was out of town.”
B: “It'salright. Don’t worry about it",
In this conversation, the speaker “B” is
(1) indifferent {2) disintercsted
(3) understanding (4) critical

167. “When it comes to grammar, she’s really on the ball.”
The speaker implies that
(1) she knows a lot about grammar  (2) she's bad at grammar
(3) she's lazy (4) she doesn’t like grammar
27 P.T.0.
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Fill in the blanks with the appropriate phrase/verb/preposition.
168. A: “Are you going to the bank today 7"

B: *“No.I've already ___to the bank.”
(1) been* (2F gone ’
(3) went (4) made
169. 1hope the enquiry will ___ the truth.
(1) get behind : (2) getat
(3) getby (4) get away with
170. The workers _ their resignation when their demands, were' not met by the
Managing Committee. ,
(1) gavein (2) gaveup
(3) called off (4) “toekin -

171. Here is the watch that you asked .

=

(1) for (2) with
(3) by (4) on
172. The loan will be repaid two months.
(" by (2) from
(3) for (4) in
173. It raining for a while, but now it’s raining again.
(1) finished (2) stopped
(3) is (4) goes
174. They are _ the whole family for Christmas.
(1) bringing over (2) bringing about
(3 bringing up (4) taking up
175. A subordinate has to abide the decisions of his superiors.
(1) with (2) in
(3) by (4) upon
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176.

177.

178.

17

180,

PART-3
Read the following passage and answer questions 176-180 :

In times of social fragmentation, vulgarity ofien becomes a way of life. To be
shocking becomes more important than to be civil or creative or truly original. Given the
degree of vulgarity in our society, cynicism seems almost irresistible. But Cynicism
represents a secession from society, a dissolution of the bonds between people and
families and communities, an indifference to the fate of anything, beyond the self
Cynicism is deadly. It bites everything it can reach-like a dog with a foot caught in a trap.
And then it devours itself. It drains us of the will to improve; it diminishes our public
spiril; it saps our inventiveness; it withers our souls. Cynics often see themselves as
merely being world-weary. There is no new thing under the sun, the cynics say. They
claim their weariness is wisdom. But it is usually mere posturing . Their weariness seems
to be most effective when they consider the aspirations of those beneath them, who have
neither power nor influence nor wealth. For these unfortunates, nothing can be done; the
cynics declare. Hope is considered an affront to rationality : the notion that the-individual
has a responsibility for the community is considered a dangerous radicalisni. Ultimately,
however, the life of a cynic is lonely and self-destructive. It is.ofir human nature to make
connections with other human beings. The gifl of sympathy for one-another is one of the
most powerful sentiments we ever feel. If we do not havé it, we are not human. Indeed it is
so powerful that the cynic who denies it goes to warwiththimself,

What is considered normal in today’s sociéty ?

(1) creativity (2) . courtesy
(3) alack of good taste | (4)  bad habits
What have divisions in societyled to ?

(1) sanmity

(2) rationality
(3) depression
(4) abelief that people always act from selfish motives

Why is cyhicism.dangerous ? '

(1)_ Tt leads to weariness (2y Itis self-destructive
(3)" Wt kills our creativity (4) Itisregressive
What characterizes the behaviour of a cynic ?

(L~ Affectation (2) Humility

(3) Generosity (4) Foolishness

What quality makes us human ?

(13 Genuine concern for others (2) Quest for power

(3} Quest for money (4) A radical attitude

Read the following passage and answer questions 181-185 :

Production may not be a dominant ideological leverage in economic decision
making, but it cannot be altogether dismissed from economic calculations at whatever
level. The difference that globalization has brought about is not that it has made
production concerns immaterial, but that the leading factor is now the consumer and
production must do what it can to meet the demands of the market. Sa every now and
again, one comes up against serious production problems at the national level which are
resolved at the global level by importing skills or machinery. Thus while it is true that
consumer tastes are getting more homogenized across the world, production facilities have
not kept up. Economic difficulties at the national level arise from this mismatch.

What cannot be kept out of economic calculations ?
(b Ideology (2) Decision making
(3y Market demand (4 Production
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183,

184.

185.

186.

187.

188.

189.

190.
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What is the most prominent consideration today 7

() The consumer (2) The economy

(3) Production (4) Globalisation

Which word does the writer use to descnibe buyer's tastes ?

(1} Immaterial (2) Mismatch

(3) Homogenised- (4) Ideological

What has caused the change in approach to economic decision- maklng_
(¥ Consumer tastes (2) Globalisation

(3} Imported machinery (4) Production problems

Al the national level, what is the effect of the discrepancy between production and demang?
(1} Importing skills becomes necessary

(2¥ Production problems need to be addressed

(3) Demands of the consumer call for urgent steps

(4) Economic difficulties arise in the process

Read the following passape and answer questions 186 — 190 ;

The land in Egypt is very fertile when it is irrigated, @nd water for irrigation has to
come mainly from the one big river which Egypt has, namelw.the Nile. Therefore, most of
the farming is done near this river. As the Nile nears the sea, it splits into several branches
to form a delta. The land here is very flat; ploughipg and irrigation are easy and it is,
therefore, the most highly cultivated arca. Further inland, away from the sea, only the
strips of land on either side of the nver are cultivated, There are, of course, a few
imgation projects and model farms, but a large proportion of the Egyptian countryside
remains a dry, sandy desert. Insthe délta, the main crops are cotton, rice, fruit such as
banana, dates, figs and mi€lons, and vegetables. Cattle, buffalo, and goats are also kept for
milk and meat. Further inland, however, where the land is not so flat, and water is scarce,
the cultivation is' less“intense; in this part of the country, there is a scarcity of fresh food,
such as fruit andhwepetables, because there is not enough water to grow it. Sugarcane and
wheat ar¢ the main crops here. In the huge, barren deserts, there are wandering herdsmen
who'keep goats and camels. Thus it is clear that vast areas of land are lying unused at
present only because of the lack of imigation. The country can double its production if the
irrigation projects multiply,

What is the meaning of *irngation’ ?

(1) To build dams (23  To supply land with water

(3) To construct canals (4) To cultivate land

What does the Nile form when it reaches the sea ?

(1) A triangular alluvial tract (2 Anisland

(3) A lake (4) A tributary

What are cultivated towards the interior of the city ?

(1) Bananas and dates~ (2)  Sugarcane and wheat

(3) Cotton and rice (4) Vegetables and fruits

Who are the ‘wandering herdsmen’ 7

(1) Men with no homes (2) Men who roam with their livestock

(3r Men who tend goats and cattle~ (4) Men who live in the desert

How can agricultural production be increased in Egvpt 7
(1) By cultivating all the land

(2) By introducing new crops

(3F By making water available to uncultivated lands
(4) By growing more fruits
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191.

192.

193.

194,

1935,

196.

WL

198.

199.

200.

PART -4
Choose the correct meaning for the word given :
bulwark
(1) freedom (2) protection
(3) shipment (4) bundle
cower
(1) desert (2) timid
(3) hide (4) run
plebiscite
(1) statement of loyalty (2) promoter of monarchy
(3) countrywide vote (4) political analyst
bizarre
(1) breezy (2) depressing
(3) wvery sirange (4) bright
Platitude
(1) common place (2) “-plateau
(3) extraordinary {(4) misleading
feign
(1) faint (2) fill
(3) feel (4) pretend
Fill'in the blank choosing the correct word :
Canspirators were satirically called men.
{1) Thonourable (2) wicked
(3) lazy (4) active
The of information in the organization will be given high priority.
(1) dissemination (2) dissipation
(3) distortion (4) disbursement
Bitter experiences make us though wiser.
(1) better (2) fortunate
(3) sadder (4) obvious
The _ of the flowers enhanced the beauty of the garden.
(1) fragrance (2) odour
(3) smell (4) aroma

3
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